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- AL OBl ¢ N, Cr 2829 55 37} 0.28 ~ 0.419) =7
97l = % 7HA 0.03 ~ 100w} Z+&)
- A9 =Y oj¥] : Pb, Cd 47 =29 =% =7} 0.05 ~ 0.758) =7p

As, Ni 5 87l 59 5= 4 (0.03 ~ 10O Z4d)

- J(Ph)L 0.0099pe/mt 2 3771 F0.5pe/n)e] 1.98% FF
- HFe)L 05588/ 2 127] FE F 714 5 ¥E2 ey
. Fe(0.5588) > Cal0.2796) > Al(0.1334) > Mg(0.1062) > Mn(0.0624) > Pb(0.0099) >
Cr(0.0073) > Ni(0.0069) > Cu(0.0054) > As(0.0026) > CA(0.0005) > Be(0.0000)

(Tt pg/m*)
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R0 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

o
Ofn

18 |0.0010|0.0059 |0.0004 | 0.0040|0.0152|0.3787|0.0026 | 0.1175 | 0.0000 | 0.3782 | 0.0003 | 0.1769

™ M 15 |0.0013|0.0093 | 0.0006 | 0.0040|0.0260 | 0.2969 | 0.0053 | 0.0470 | 0.0001 | 0.1303 | 0.0064 | 0.0430

=28 | =< 21 10.0031|0.0130 |0.0007 |0.0135|0.0628 | 0.9471 | 0.0188 | 0.1470 | 0.0000 | 0.4306 | 0.0123 | 0.1776

ot F 15 |0.0051{0.0114|0.0005 | 0.0061 | 0.1455|0.6125|0.0023 | 0.1131 | 0.0000 | 0.1794 | 0.0028 | 0.1359

g 17 10.0026|0.0099 | 0.0005 | 0.0069 | 0.0624 | 0.5588 | 0.0073 | 0.1062 | 0.0000 | 0.2796 | 0.0054 | 0.1334

k| 24 10.0027 | 0.0102{0.0005 | 0.0049 | 0.0674 | 0.5978 | 0.0057 | 0.1554 | 0.0001 [ 0.3169 | 0.0102 | 0.1822
MNAdzg
(O} Rlel) | 25 [0.00290.00740.00040.0078|0.0356|0.5319|0.0075 | 0.1128 |0.0002 | 0.4286|0.0100|0.1719
2|
= Stﬁ -0.29 | -0.04 | -0.03 | 0.00 | 0.41 | -0.07 | -0.07 | 0.28 | -0.32 | -1.00 | -0.12 | -0.47 | -0.27
Zt
5|
(uh) |HE=
Sicjg) | 0-32 | -0.10 | 0.34 | 0.25 | -0.12 | 0.75 | 0.05 | -0.03 | -0.06 | ~1.00 | —0.35 | ~0.46 | -0.22

EA7|E PM-10 100x/m (Y ET), Pb 0.5u0/m (HAET)
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- FPh)L 0.0059ug/m = 73 7]150.5ug/m)2 1.2% +=
- HFe)& 0.3787g/nt 2 127] &= 5 /M 58 555 Ve
- A4 ¥l : Ni, Mn 5 5852 5% 37} 0.04 ~ 1.358) =D
As, Pb 5 6359 &% 74 0.05 ~ 1.00H0 Z+4)
- Add 549 tjy] : Pb, Mn 73E9] &% =7} 0.07 ~ 1.008} =7}b
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(St pg/m*)

T = PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

=8 18 |0.0010|0.0059|0.0004 | 0.0040|0.0152|0.3787|0.0026 | 0.1175 | 0.0000 | 0.3782 | 0.0003 | 0.1769
P! 25 |0.0016|0.0065 |0.0004 | 0.0017 | 0.0146|0.3326 | 0.0018|0.1258 | 0.0001 | 0.3103 | 0.0054 | 0.1862
ez 25 10.0028 | 0.0055 | 0.0005 | 0.0048 | 0.0110]0.3121 | 0.0013 | 0.0930 | 0.0002 | 0.3324 | 0.0025 | 0.1602
~ | o
= iy —-0.28 | -0.38 | -0.09 | 0.00 | 1.35 | 0.04 | 0.14 | 0.44 | -0.07 | -1.00 | 0.22 | -0.94 | -0.05
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=9 tjy] : Ph, Cd 2329 =5 =7} 0.20 ~ 0.299 Z7b
As, Ni 5 10859 &% 74 0.17 ~ 0.768) Z+&)

(=H g/ m?)

T = PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

=2 15 |0.0013|0.0093 | 0.0006 | 0.0040 | 0.0260 | 0.2969 | 0.0053 | 0.0470 | 0.0001 | 0.1303 | 0.0064 | 0.0430
o g R e e I I e e e T I
dd=4 24 10.0026 | 0.0072 | 0.0005 | 0.0068 | 0.0383 |0.5241 | 0.0064 | 0.1167 | 0.0002 | 0.4821 | 0.0106 | 0.1768
= | n
ot | el B - - - - - - - - - - -
Bl g
(th) lE_Hm -0.38 | -0.50 | 0.29 | 0.20 | -0.41 | -0.32 | -0.43 | -0.17 | -0.60 | —0.50 | -0.73 | —0.40 | —0.76




- A4 d¥] - Cd, NI 5 959 5% 7} 0.02 ~ 0.939) =7}
Mg, Al 3&8=2] % A 0.03 ~ 1.008] 724
- Ad ¢ f¥] . Pb, Cd 5 7= % 7} 0.09 ~ 0.759) =7}b
As, Al & 58=2] F&% 74 0.01 ~ 1.008] Z%)
(EH2l 2 g/ m?)
T & PM-10 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=29 21 0.0031 [0.0130|0.0007 | 0.0135|0.0628 | 0.9471 [ 0.0188|0.1470|0.0000 | 0.4306 | 0.0123|0.1776
e 23 0.0026 [ 0.0118 |0.0005|0.0070|0.0369 | 0.6791 | 0.0108 | 0.1588 | 0.0001 | 0.4013|0.0121|0.1839
=g 26 0.0035(0.0096 | 0.0004 | 0.0118 1 0.0576 | 0.7594 | 0.0146 | 0.1287 | 0.0001 | 0.4715]0.0168 | 0.1786
§ E:I:EJI -0.09 | 0.19 0.10 0.40 0.93 0.70 0.39 0.74 | -0.07 | -1.00 | 0.07 0.02 | —0.03
ST e
(tH) EHt'I_| -0.19 | -0.11 0.35 0.75 0.14 0.09 0.25 0.29 0.14 | =1.00 | =0.09 | —0.27 | -0.01
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(=H g/ m?)
- = PM-10 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=4 15 0.0051 [{0.0114|0.0005|0.0061 | 0.1455|0.6125[0.0023|0.1131{0.0000 [0.1794 | 0.0028 | 0.1359
| 24 0.0038 (0.0123 |0.0005|0.0062 | 0.1506 | 0.7816 | 0.0046 | 0.1815|0.0000 [ 0.2390 | 0.0131 | 0.1765
TR I I R e e e
%L 33 —-0.38 | 0.34 | -0.07 | 0.00 | -0.02 | -0.03 | 0.22 | -0.50 | —0.38 | 0.00 | -0.25 | -0.79 | —0.23
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24k &
B o] Pb, Cu 5 67] &5 A
Cd, Cr & 67} &&2 7ol =4 Yebe
- =A< diE] : Pb, Cu 5 T 52 Adel 9 YEste
Mn, Cr 5 571 &5 7ol =4 vehd
ARG GHA ek

- |(Pb) & : Ado] #

- 73 0.0102ug/md - B4
- HFe) % : Ao] FART ], SARY BA e
- 73 0 0.5978ug/m - F4F 0 0.3742ug/md - 24F ¢ 0.6363pg/m
(EH9l g/ m)
= Pb Cd Cr Cu Mn Fe Ni Al Ca Mg As Be
4=k 1 0.0102 | 0.0005 | 0.0057 | 0.0102 | 0.0674 | 0.5978 | 0.0049 | 0.1822 | 0.3169 | 0.1554 | 0.0027 | 0.0001
252%5. 4+ 10.0234 | 0.0009 | 0.0024 | 0.0139 | 0.0159 | 0.3742 | 0.0013 | 0.1696 | 0.3649 | 0.1710 | 0.0048 | 0.0000
24 1 0.1186 | 0.0051 | 0.0025 | 0.0320 | 0.0627 | 0.6363 | 0.0044 | 0.1722 | 0.388 | 0.1957 | 0.0335 | 0.0000




[ EH1] ZADIZE )| S 1 wssn: =32 53 2 13

=49 AEAFH 71 F 71482021 6. 7. ~ 6. 11.)
% 2021 6. BAMT AL FAR U 73R FAHETH
(TEE A% AH7T T BEED

73 & (mm)
2 & & £ .
?-L_ rgﬁ-7] (OC) HE(%) T“i(m/s) 78]"%]_ ;S__z'_ 7‘]Xﬂ
=4 22.40 70.6 1.3 59.2 | 33.1 | 56.6
A4 18.40 574 1.6 0.0 0.0 0.0
Ads4d 24.8 64.8 1.5 8.8 14.8 -
AN h)> o
72 | 198 | 298 | 394 | 49% | s59x | 44 | 3z | w2
ke 21.84 23.09 23.96 2253 21.83 21.83 23.96 22.65
qAE | - - : - - - - -
TeE 22.45 23.39 22.99 22.16 21.25 21.25 23.39 22.45
ol FF 22.55 22.86 22.15 22.59 21.38 21.38 22.86 22.11
Z 2 o
SRLE e @9 : %)
FE | 198 | 298 | 39% | 49% | 594 | HA | HA: | #H?
EIaca=s 75.5 76.4 66.7 72.3 89.8 66.7 39.8 76.1
WA s : - - - - - -
s 69.3 67.3 62.6 75.1 9.8 62.6 95.8 74
oL & 434 57.6 51.6 67.7 38.2 43.4 38.2 61.7

= T4
< 76]/\% '6_“1 (1‘:]_-% . HI/S)
TE 19 =} 29 =} 39 3} 49 =k 59zt = Ha B

shE & 2.0 2.0 1.8 2.2 1.9 1.8 2.2 2.0
A - - - - - - -
iR 1.1 1.2 1.2 1.0 0.7 0.7 1.2 1.1

ol E 0.8 0.9 0.9 0.9 1.6 0.8 1.6 1.0
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